
PART- III 
(g6l.lju51UJ6\l/ CHEMISTRY 

( �u51W LD.(!)IDJLD qbffi1�6U Gl.lwl / Tamil & English Versions) 
aJD r,n.b : 3 l.D�; ] 'Time Allowed-: 3 Hours ] [ GLDrr�� LD�uGU6m8:iGTT : 150 

[Maximum Marks : 150 
(1) � 6ln 6ITT � � @S1 6ITT rr 8J a; (_§ LD B= rf1 UJ rr a; u � 61.Jrr � � w w � rr GT 6b-r_ u � 6ln 6ITT 

B=rfl u rrrr �� 8j Q 8:i rrITTGTTQ.j LO. . � c9=8r LJ u � @S) Q) @56ln ,(!) u5l @> Ll !Sl 60T
�6ln!J)8J8:i6mff8:i1T6lfluurrw1flLLD 2..L6ITTt.q..UJrra;� Q�rfl61S18Jc9>Q.JL.D.

(2) JB 6l) l.D � 6D 6l) � c$ @> LJ LJ 6l5) LD u5) 6l5) 6ITT LO L.. {b) GLD GT@� Gl.l � .(!)@5 LO ,
� lq-8J G85rrt.q..(1) Gl.l � .(!)@5 l.D U UJ 6m"U {b) �� a@J oo® LD. U Lffi.J $ITT 6)J 6ln IJ6U � .(!) @j
Qu60TMm UUJ60TU{b)��Q.J LO.

ffistructions - ·: (l) Check· the question paper for fairness of p;inting. If there is any la�k of 
fairness, inform·the Hall Supervisor i.tnm�dia;�ely. 

(2) Use Black or Blue ink to write and underline and pencil to q.raw diagrams.
• I @!]5luq : �6ll)6l.ll.Urr6'0"T c@L��Q) ULLD Gl.16ln!J[B� B=LD60TUrr{b)B>66-,.GTT GT@�8:i. 

Note : _ 01."�w diagrams and write equations wherever necessary. 

�L.14 : (i) 
(ii) 

Note : (i) 
(ii) 

u@Sjl - I/PART- I 
� 6t0'6'GT �f6J � 6l5Hf c!B8i �83-@)1£>' � 6l5) LUJ Grfl\$8>6>.,j l.D. 
B=rfl LLHF6llT @S1�L�'LU� (]�if[.5'1�®�� Gr(!:Q:�85.Answer all ;tlie questions. Choose -a:na·wrife,the· edited answer. 

30xl:::;:30 

1. ---- 61)) jvL@ir rt aB= rT'LD' ffii 8;'6IT � Lrr a; rTIJ"ffi1 a; ITT QP 6irr6ml 6ln 6U u51 m �uSl 6U LD rr a;
@S16l5) 6ITTLj If)� !D �( �) �rflGIDGWUJ ( �) r:r-rfl6l5)00UJ
(@) (�) LD.(!)IDJLD (cqb) (r-r-) {'.Y)@S)6l5)6ffiUJ .____ nitro compounds behave as acids in presence of ·strong alkali .. (a) Primary · (b) Secondary(c) (a) and (b) (d) Tertiary
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( �) L.O��rra,61 Gu6b186bl 

(@) w��rra,61 w�G�6b1 

2 

(�) r-F��rra,61 r-F�G�6lll 

(r-F) r-F��rra;.il Gu6b186l!T 

____ is used as a refrigerant in refrigerator. 

(a) Methoxy benzene (b) Ethoxy ethane

.( c) Methoxy methane ·

( � ) (g LO ff 60$G'ffl Gm" GT 6m-Gm18'�$ 

(@) @)6)..1 ff 6m-LU) GT6m-

(d) Ethoxy benzene

( �) �ru8>rrLGIJ"rr tor6m-

( r-F) tor�Gvrrrolut.sl6m" u1.q-

In the Bragg's equation for d�fraction of X-rays, 'n' represents 

( a) The number of moles (b) ·· Avogadro number ...

(c) A quantum number (d) Qrder of reflection

The charge of an electron is determined by : 

(a) Thomson (b) . de-B;�glie , . (c) Milliken

5; <or��QS16bl ffil�GTT8'8>ff6D (PI3 �i._� �:�60TLjrflJ6� Q�rr@uu� : 

(�) ICH2CH2I (qb) CH2 ::CH2 (@) CH2=CHI
/ � I ' . , 

, ', � :, • , : , '. ' ', � � 
; \ ' .J 

The reaction of ethylene glycol with PI3 gives: 

(a) ICH2CH2I (b) CH2 = CH2 ( c) CH2 � CHI

(�) +1 

The most common oxidation state of Lanthanides is·: 

(a) +2 (b) +1 (c) . + 3

(d) Einstein

{d) ICH=CHI 
: .,., 
I j \ 

( r-F) +4 

(d) +4
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3 6233 ..

7. Aiwd58>6mLrud>wGTT 6T"�ru G\Sl�@ �GTTm�?
(�) Gn>LITIT68r (qb) 8,�LO 6r6m"G6mrrUJ
(@) �IT6UIJ" 6T"OOGGm"UJ (FF) Quu�L@
Which of the following contains a lipid ?
(a) starch
( c) edible oil

(b) mineral oil
(d) peptide

8. �® GruuutbQ8>rrGTT 6LO��Q) 62Sl��u5lru. Tl LD!I)IDJlD T2 GGt1uu��Q)<9,GlT)Gl)
6L.0�60)Q) LOrrp51Gl518>GTT K

l 
LD!I)g)Jlp K2 .6J"�Gl) Qruuu��Q) T2 qb6tIT� T1 �6U �L

��8,LOIT8, @@c$(§LD aurr� (T2 > T1):
(�) K1 < K2 (qb) K1> K2 {@) �1 =K2 {FF) K1 * K2
An �quilibrium reaction i� endothermic if K1 

and Kz are the equilibrium constants at ·.
T 

1 
and T 

2 
temperatures respectively and if T 

2 
is greater than T 

1 
then :

(a) K1 < Kz (b) . K1 > Kz (c) K1 =K2 (d) K1 * Kz

9. �6irrL·�.rrrr� · �lLI rr� L6irr �8>@ LD GB=lLI Gl>BiGTT.
6T"_6trru u' (Bl $16irr!I) 6tIT 

( �) 9�uu_��Q) LOIT!I)IT
(@) �6irr�mt¥�6

(qj,) Gruu�tb .wrr!D� ..

(FF) �Gm61ff1§Q>6l1J!D!J)
A process accompanied by incre�se in entropy tends to be : ·
(a) isothermal

•.·.-. _;' . 

( C) spontaneous

-� 
. 

i j._, . '. . ·. . . ) . �- - ., . . : ·  10.. [Ni(CN)4]2- · �lU6!rrlu51Eibl �60)�ULJ :
( �) JDITGMQJ)$\
(@) Qf>c$a8irr6m"LD
The geometry of [Ni(CN)4]2....: is:
(a) Tetrahedral
(c) Triangular

(b) adiabatic
. ·.; (d) . non-�pontaneous· ·.

(qb) 6�1J"�GTTLO 
� -� j 

( FF) 6T"6m"{Y)£l

(b) Square planar
( d) Octahedral

;:· -.�:_::·•·'.
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11. J3-�8,;GTT @k9UL-1 ---- 6f6b"TU�!!)@j 5L.OLD.

( �) �® LtGIJ"rrLLIT6bl ��a;rf1uL-t . ( �) �® ��LIJ"IT6bl @kPuL-t 

' (@) (�) L.O!!).Q)JLD (�) (r-r-) GT�� L.OIT!!),!DQPLD @6U66)Q) 

Loss of a J3-particle is equivalent to: 

(a) Increase of one proton only

(c) Both (a) and (b)
(b) Decrease of one neutron only

(d) No change

12. � rf1 66) 6mif lLI � LO 6m Q a= lLI GU u (1) LD @S1 � LD :

( �) 6fQ)c$L...(J"IT6bl 8.iQJITffi(J"��f
l 

( �) @)ITU.5t9:ilTIJ"LD 

(@ ) @)Jf u.51 � u5) m LD ( r-r-) �60T1 �w u Lt 
Primary amine acts as 

(a) electrophile

( c) Lewis acid /
(b) Lewis base

( d) free radical

13. 66)L6f ��GU r-r-��66)1)" �66)�LJLJ�!!)@j �ffi�� ffi(J"60b"fl :

(�) HI (�) KMnO4 (@) NaOH 

Diethyl ether can be decomposed with: 

(a) HI (b) KMnO4 (c) _· NaOH

Sucrose contains glucose and fructose linked by 

(a) C1 -C1 (b) C1 -C2 (c) C1 -C4

15. � lLI 60T1 lLI rr c$@j LO �!D ,!D 6l51 Gm" 61.1 rf1 �a= :

(�)s<p<d<f (�)s>p>d>f 

(@) s > d > p > f (r-r-) s < d < p <f 

The order of ionization energy :
(a) s<p<d<f

(c) s > d > p > f

(b) s > p > d > f

(d) s < d < p <f
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(�) AgCl (�) AgBr 

Which silver salt is used in Hair dye ? 
(a) AgCl

1 
(�) pH=

[H+] 

(@) log10pH= [H+] 

(b) AgBr

5 

(@) AgNO
3I • 

(c) AgNO
3

1 
(f:r-) pH= log10-

+
­

[H ] 

Which one of the following relationship is correct ? 

1 
(a) pH=. [H+] (b) pH= log10 [H +]

(c) log10pH = [H +] (d) pH 
==; log10 [H+.]

" (�) U-236 (qb) Pu-238 (@) U-235 

____ element is used as fuel in_ nuclear power plcmt. 
(a) U-236

(�) 300 - 500 abn 

(@) 700 - 1200 abn 

(b) Pu-238 (c) U�235

(�) 500 - ·700 a� 

( r-r-) 100 - 300 abn 

(r-r:) Agl 

(cl) Agl

(r-r-) Pu-235 

(d). Pu-235 

The pressure required to get maximum yield of Ammonia by Haber's process 
(a) 300 - 500 atm
(c) 700 - 1200 abn

(b) 500 - 700 abn
(d) 100 - 300 atm
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20. �GTT6ITlUkf,6lITTLq-6m' _Sr�G)J��LUJ �c!frTLDL.O :

{�) P�0
3

- (q1,) P
2
0

5 
{@) H

3
P0

3

The compound with garlic taste is 
(a)· P

2
0

3
(b) P

2
0

5 

21. ----· LrfQ)Gm"Gn) B>IJ"�GIDlU �@c95@)W �u5l6UL.O.

( �) �5'L...Lq-8; �uSlGUL.O ( q1,) GuGma=rr�'9> �u5lruw 

(@) urrrru5lc95 �u5lQ)Li). (w) �8;a:rrG\Slc9, �u5loow
The acid which reduces Tollen's reagent: 
( a) acetic acid (b) benzoic acid
(c) formic acid . (d) oxalic. acid

22. �® GlS'l@Gm�Gm' aG 6r�rT8;(§!6)6IDlU Qu!b!!Sl®��rrro, ��Gt) GJ!DU@L.O LDrr!i),IDLD :

( �) �Gm6nfl5GIDc!flUrT60'T� ( �) �Gm6nfl5GIDc!flU!!JfJ)�

(@) illGTT �6isfGIDLDlLJ�LUJ� (FF) illGTT �Gm'�LDlLI!D��
If L�.G for a reaction is negative, the change is :
. (a) spontaneous (b) non-spontaneous

.\c) ·· reversible · (d) equilibrium

23. CH3Ni. re rolL C6HsN! �GID6U.UJh"Gm� ��!I)B>ff6UT' B>rTIJ"6mITL.0 :

(�J.-����a=�� �Gm"GIDLD· (�) GB>rrw6fflL �6U)GJT� 

(@) @6fuLro· GlSlGIDGTT� (w) {qt,) LD![)g)Jl.O (@)
• 

+ , ' _.' :,· '. ', ·+ , •, , , I 

C6HsN 2 is sfabler ·than ·cH3N 2 because of : 
( a) resonance (b) steric effect
( c) inductive effect ·, , I : :_. , . i , , (cl) ,;':P�tll 1(1:>).and (c)r:, ' '.I 

_J · r . -

24. QJ ITll.j�.!l;Qf Ul)"l.J y.9; s;QJ irL
I 
L..1@15Q$li;irr /!i6irl'OOLD 61"00/!iu Qu ir��� Lrirrwru�ro�Q)?

(�-) QG)JLJLJ�GIDG\) (�) �@��LO 

The magnitude of gaseous adsorP,tion does not d�pend upon : 
(a) temperature (b) pressure
(c) nature of the gas (d) amount of the adsorbJnt

--�'-.: 
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25. 91, a; GTl) rr GOl a; � uS1 GU��� � uS1 ru LO Bl ru J6 � KMn04 �GU· �a;�� G 6tll !D !I) LO
��6t!Tu5l Q) ---- � �6t!Ta6ll8> lO_ff!I) !6) UJ rra; G8=UJ Q)LJ @$1 !D�- .

(91,) (COOH)z 

____ is the catalyst in the oxidation of oxalic acid with acidified KMn04. 

(a) KMn04 (b) . (<;:OOH)z

( �) @IJ"OOLffLO 6ll�B> @Sl�.6t!T 

(@) aurrGOl @�ru ru�B>. 661�� 

-(�) l::1��lLI 6ll�� ��6t!T 

( r-t-) (_lp�GU 6ll�dl �6n16t!T 

Hydrolysis of an ester by q.ilute HCl is an example for.: 

(a) second order reaction

( c) pseudo first• order reaction

(b) zero order r�action

(d) - first order reaction

27. 8;�c$8>00LQJ!I)JJ)JGTT 6r� Q l,D��Q) .QJDc$6lrr"1 lLI LO �alLI rr� L{b) L� a�&,Jfi�
����UJ ��L�LGU �Gi)a;�rr�rua; Qa;rr@a;(§LO?

(�) HCHO

From which of the following, tertiary butyl alcohol is obfairied, By the· attion o{Methyl
magnesium iodide ? ._. _: . 
(a) HCHO (b) CH

3
CHO

' ,.,\ i',• 

.. (�)' CH3CpC:�·h.
! ', i') .' I 

( �) u51GnTer�LD @®�ug;rrru 
•. �> i,_ 

f > '. 1 -/'. •.".,: .-: ;. I 
. , , . , .(�) �Gltl���!Dru ,

,( FF) �GTfl �Q)B;Q) (@) �GTfl �pSl�er�ro. 

The Tyndall's effect associated with colloidal particle is due - to : 

( a) presence of charge

( c) absorption of light

(b) scattering of light

( d) reflection of light

(d) 
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6233 8 

• 29. a5rrL.DffiJ .g;m Gf��B; Q.g; rrmrl-9--®B>®LD Q u rrQ:Q� � !D QFGTTGlT � UJ¢).g;�-GIT
2-@Q.J ITB>(§��JD6l>T. 

( �) @IJ'L�L (ofQ)B;Ll}'IT�B>GTT ( qb) ���� GfQ)cSLl}'IT�B>GTT 

(�) ���� a�rrl!\- <orrucSLl}'rr6b-f.g;m (r:r-) (�) LDd).Q)ILD (@) 
Formation of coloured ions is possible when compound contains: 
(a) paired electrons (b) unpaired electrons
( c) lone pair of electrons (d) . (a) and (c)

E -313.6 ___a • • 
£1 

• 30. n = 2 
, En= -34.84 <orroo11Q) n 6lIT l.D�1UL.j : 

n 

(qb) 3 (�) 2 (-r:r-) 1 

En = -313·6, if the value of En= - 34.84 to which value 'n' corresponds ?
n2 

, (a) 4 (b) 3 (c) · 2 (d) 1

LI®j - II/ PA.RT- II

,15x3=45 

(ii) �6iJQrurr@ @S16lrrrr@S16J®LD 6j?6irr!DJ _ �roru�_ �IJ�@ rurrB>ffilUJIBJ�_6fflro
GlSl�LUJGTfl.

Note: (i) 
(ii) 

Answer any fifteen questions.
Each answer should be in one 'or two· s�ntences.

31. He2 <oJ� �@rurrB>GlSlro�ru?

Why He2 is not formed ? .

; (� : i ,' 

. r JI 

32. qb8>6'��6ITT GlSl_L o°ol.je§rfl� ��Cb �UJ�UJrTB>(§LO �!D.(I)�Q) GudJwmGIT�. 6J�?
The ionisation energy of fluorine is greater than oxygen. Why ?

(:�� r:, 
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33. UrT®�6lff �IT 5l!rJJ6� �@.ai(§W 8i1Jrofi 6f�U6lf>W J6l@L5l.
Show thcl.t phosphine is, a very good reducing agertt.

34. Qurn.: .. Lrr� Ultf-c$rr1JLO 6fQJGtlrTIDJ �UJrnfle;e;uu@£l!I)�?
�()w_ is Potash Alum prepared ?

35; 6ln_p;e;GIJrrLD �GQ>rr8.ie; e;Q>6lf>rut61� lf�G'Dff, @6lnlLII...I LDJD!J)JLD UUJ� UJrr�? · 
What is the percentage composition and use of Nichrome ? 

36. �_GLOrr6nfllLIIT c$6\)j6� �Q)GtJIT -6lf>JDLGIJL U1T1TL.6le; �L.6l���L6nl 1...1ifl�w �6lf)60T6lf>lU
�(!]<$.
�ive· the reaction of ammoniacal silver nitrate with Formic acid.

37. L5l.6ITTGtl(!DW �Le$@ 6616lf>�8.i�GTT k!A�� G8=UJ8>, :

�8. 

(,1.) N- 15 ( ) (u· .) N 23 ( ) 7 p, a. . . . . . ... . 11 a n, � ......... . 
Complete the following nuclear reactions : 
(i) 7N1s (p, a.) ......... (ii). uNa23 (n, 13) ........ . 

. 
. 

What is· metal de{iciency defect ? Give an example. 

(iii) 19K39 (p, d) ........ . 

(111 ... ) K39 ( d) . 19 p, ........ .

39. CHC1
3 
6hl: Qe;rrfE)�6ln6U 61.5°C 6r�ru �� P?ruGOlUJru�� ��6lf>LOt61ro G6UJQ>u@tb

�WIT� �-�� q':OfT,W_�IT �@SlUJ��Q) "1ruuu�6lf>�c$ ��e;£l@.
. The b9iling po�t of CHC1

3 
is 61.5°C. Calculate the molar heat of vapouris�tion of the 

liqui_d, �s�timing ide�l bel}aviotir. 

4� � l!L@GtJ rr �ru if LO� 6lf> � LO rr!]51 Gl5l c!i;@j ili, L5l ifl 6lf>c$ LO rrpSl Gl5l e;@j w �GTTGTT Q � rrLIT� 6f � 601? 

rii7 
� 

. �® 6r@��e; 8irrL@, �@8i. 
What is tp.e relationship between formation equilibrium constant and dissociation 
constant ? Give one example. 

6233 
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41. G"f�Ql]"�IT GlSlGIDQIT 6f6ITT!!)fTGU G"f6ITT6"0T? G"f@���B;fTL@ �@)/£,
What is opposing reaction? Give an example.

42. QP�GU QJGIDB; GlSlGID6m"8l@) {'.!j)6ITTIDJ 6f@��8,8jfTL@BlW �@)$_.
Give three examples for first order reaction.

43. Bi G1fl ffil.W LD�� 6l5r � rrl GID B; j£1 GID ro GID LD, � rrl 66) Bi �LB> LD �£! tu ru !D GID !D @) ,a5) u L5l @Bi.
a;Glf\ ffil.WLD��f!)@) 6f@��8,8jfTL@ . �@$,
Give the dispersed phase and dispersion medium for a gel. Give example for gel.

44. Ga;rrrol]"rr� @S1fhl66)UJ Q..l66)lflLIIDJ.

Define Kohlraush's law.

45. li}-IJ"ff 6ITTGn> � 6ID LOU y, .i} Gm � 66) LO L.J 6ID U @S1 L. jBl GIDQ) lLI fT6m" � rr a; @@a;$)!!)�. 6,f 6?5T?
Trans isomers are more stable than cis-isomers. ''Why ?

4 6. I.) 6"0T rrro 6ITT qba;GlUl �G 6m !D !D GiS16n16"0T6lf> UJ � �®a;. 
Give· the oxidation reaction of phenol. . 

4 7. mfl GID6m"lU qbGUBi� rrwa;a; rr6ITT @S)a; LIT GLD lLI rr Ga=rr �6ID6ITT66)lLI 6f @�$_. 
Write the Victor Meyer's test for secondary alcohol. 

48. �Q.J!]BlQ> '�6IDQIT6n1UJ ·6f@��-.
Write_ Knoevenagal reaction.

49. LDrrJDIDJ G"T"Gn>L,rrra;@)�GU G"T"6?5T!!)rrGU· G"T".6ITT�? G"T"{b)��a;B;rrL@� �®a;·
· What is trans esterification ? Give example�

50. CH
5
N G"T"6ITT®J LO eproa;ffil.IDJ ru rrw u u rr@6n1 LUJ. (A,.) ��!D � GUGIDBlGU, 1� uSl6ITT,

-a;-rr1r�r□Gt5uSI� Gfll�6Wr�®--�LL1L@-(B). ffi �®!1�pj��-·-a5-iTLDw· "(BY LiAlH4 ·-�ru
�@Bl8il.D �6n1LJ!)� (C) ffi �®£!ID�- aa:rrLDr&.JB;Glf (A), (B) LD!I,).f!)JLD (C) ffi 8;�L,a518i.
An alkylamine (A) molecular fon�mla CH

5
N unde�go�s carbylcunine. reaction to give·

(B). When (B) is reduced with LiA�H4 gives (C).. · Identify (A); (B) and (C).

51. Y6n11J"��(b)uurr6ITT G"T"6?5r!!)rrGU G"T"6?5r60l? 6r@��a;B>rrL® �@Bl.
What is antiseptic ? Give an example.
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LI®� - III/ PART - III 

®!DlµLI : �Gi.JQam@ t.5lif16EIGUl@Jfi�LD @j6if>fl)Jfi!£LIL5LD -i'® 6El6!rrrr8>B.i6if>GTT G�irJi>G�@�� 

6233 

GL.Orr�!£LD 6J(!!) 6El6!rrrr8'8.i(§8>@j · 6Ei6if>LlLIGTTl. · 7x5=35
Note: Answer any seven questions choosing at least two questions from each section. 

L.5lrrl6l.t - · � / SECTION - A 

5 2. p-� ri-L5l LLrrGUl 6irr 6)J 111-6)J ��� 6EI m 8'@)8'.

Explain the shape of p-orbitals. 

53. �wuSlG6!rrrr 9G)JL.JU �@8>8.i QJ)6if>f1)6if>lLIL.J ULLO G)J�IJ"Jb� 6EIGTT8>(§8.i.
Explain Aluminothermic process with neat �iagram.

54. GL.OrrG6!rrrr6if>5L. L.06m"60l6Ul@Ji>� GUrrJi>��6!IT.@ GTQJG)Jrrw L5lrf1�Q1B@8>8.iUL1@$l!1)�?
Describe the extraction of lanthanides from monazite sand.

' ' 

55. 8r!!)IDJ�(§kQ 6U r a6)J�t6lu_jGD)ro. @i�mrrG1Jrrt.5lruGl516irr UffiJ_@j wrr�? ��6irr 
Qc9=llJa>Urr@8'@GTT @)!}51Ut.5l@8>. 
How is chlorophyll important in environmental chemistry ?. Mention its functions, 

t5lrrlnr.;·.� / SECTION - B 
1. · 

5 6. GT 6irrL. (g 1Jrrt.5l l616irr cfl fl) L.J t.5l llJ a>� 8.i 6if>Gff !£(!98>.

Give the characteristics· of eritropy. - . · - · 
, " j. .:� I 1 ! . I 

.... . , ( ' '\.··. 
,; ,. ' ' ···. . .· . . .  ' ' ', ' 

· 57. KP 
L.O!I)IDJLD Kc 8,� 'c@6if>LGlLIU.Hf6!IT·. Q�rr�IT@U 6)JC!96EI.

Derive the relation between K
,; 

and Kc

5 8. GTWhu LO !D IDJ LD cFl 8>8.i GU rr 6!rr 6EI 6[)6!IT 8.i �ffi(§ � 6if> LG lLI �GTTGTT GG)J IDJ u rr@ 8.iGTT lLI rr6if>6)J ? 
What are the differences between simple and complex reactions ? 
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59. �® Zn u51Gmrurrti.J 0.01 M ZnS04 8:i6l5>1J5rol6D 25°C 6D 6l5)6l.J$8:iLILJ@GLDlUff6"6Hl"60, @�Gm
�6l5>1J8:iru u51Gm �@���615>�8> 8:i6m8>$l(b) E0 = 0.763 V.
Wpat is the potential of a half cell consisting of zinc electrode in 0.01 M ZnSO4 solution
2s0c; E0 = o.763 v ? · 

l.51ifl6l.j � � / SECTION - C 

6 0. £ �$8:i �L 8:i 1J 6lrnfl 8:i� LGm 6l5> L GT�� Gt) FF� IT GT GlJ 6l.J ff WI @S16l5> 6"0TLpf1 $1 !!)� ? 

(i) �LIT H
2
SO

4 
(ii) }BIT�� H

2
SO

4
(iii) HI

How does diethyl ether reacts with the following reagents?
(i) Con. H

2
SO 

4
(ii) dil. H

2
SO 

4
(iii) HI

61. �&1L...Lff6Dlq-6l5>�6l5>Ll.l.JLO, GLJGm5ff6Dlq-6l5>�6l5>Ll.l.JLO Gruwu���8:i.
Differentiate acetaldehyde from benzaldehyde.

· 6 2. B=rrrol &1 rol 8> � u51 ru LO LJ G 1Jrru51 @I LGm LJ rf1 lLJ LO @S16l5> 6"0T ru w) (!:P6l5> !D 6l5> lLI @Sl GIT$(��._ 
Explain the reaction mechanism of bromine with salicylic acid. 

6 3. ��@Sl ru . Gru � u Gurr® Ls.; m u !D ,o51 51 WI® ,o51 LI LJ ru 6l5> IJ s.;. 
- Write short notes on chemicals in food.

LI@j� - IV/ PART - IV 

®!6lu4 : (i) GLDrr��LO Jt,IT6t>l@j 61Sl�rr8'8:i�ffi(§ ·QS16l5>LlLiml. 4x10=40 

( ii) GlSl 6"0T rr GT� 7 0 8i@j 6., L.... L rr UJ ID rr 6.> . @S1 6l5> L lLI ml 8> 8:i u L 6D G ru 6m"@ LO . 
W�Q,0GTT61)" @S16"0T rr 8'8:i ml 6D 6J(g�Wl l.D_ �6t>l!DJ @S16"0Trr 8'� �8>(§ @S1 � LllJ ml. 

,, ' •, ,' , 
' .'

' ' ' , I ' 
. 

', •- '., .� ' ', ; J• '·• ,j • ' I '► • '. ' - -·. - : j ' j 
' 

Note : (i) Answer four questions in all. 
(ii): · . Questi<;m number 70 is_ coinp1.1lsory and c111swef any three.from the remaining 

questions. 

64. ( � ) � lLI Gml lLI rr 8'@j LO qb!I) !D 6l5> ru LI u rr � 8'@) LO s.; rrlJ 6lrnfl s.; 6l5> GIT @S1 GIT 8' ® ·

( qb) LJ('.§rr16nt1Gm LDrTWLJLL LJ�Lj8:i6l5)GIT 61SlGITc$@)8:i.
(a) Describe the factors influencing the ionisation energy.
(b) Explain the anamalous behaviour of fluorine.
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(i) r-F6nll

(a) Explain the following:

(i) Ligand (ii) Coordination number

(b) Give the uses of radioactive isotopes in medicine.

66. ( �) L511pr85 �!D�IJ"GULorr6nll (Y)6n">!I)6n">lLI 6lS1GIT85@)i!E.

( �) @S16n"> �Gru i!E LO rT!!) !I)�� 6m LJ IJ" L.J � 85i!E6)J rr 55) Q i!E rTGTT 6n">i!E 6n"> lLI @S16)J ifl .

(a) 

(b) 

Explain Bragg's spectrometer method.

Wtite briefly about the adsorption theory· of catalysis.
. 

(a) Explain the quinonoid theory ,of aci�base indicc\�or.

:, 
(b) Derive Nernst equation of a re;ver�ible cell.reaction ... •

:" · ' 
I . · ' -.. · •. , '.- ·, � : ; 

r 
• .' . , , • 

68. ( �) L'rrri-Lrrrfl85 �uSlGU��6irr �Glf1 ar�!b61· LDrr!I)!}5llLI�6n">fl, .GlSlruifl: . 

(i) NaOH

(a) Explain the optical activity of Tartaric acid.

(iii) PC1
5

(b) How do succinic acid reacts with the following ?

(i) NaOH (iii) PC1
5

\ . . • . ' 

6233 
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69. ( �) Q u6irr96irr 61))LtuGa:rr6nfl tu LD @) GGTTrr61)) IJ"Lq-GUl@ p:,� $W8iOOL Ga:rrL.OffiJ6.i61))GIT
6T" QJ @J rrw � tu mflt.:.t u rrUJ ? 
(i) 61))pjLGirrr Qu6irr96irr
(ii) @)aGITrrG(Jrr Qu6irr96irr,

- (iii) LEI 611) 60Tro 611) � LIJ" 96irr
( ,qb) Quu61))L® ·LE!61))6!fOTLJLj �ooLrr�6ff">ru 6LOGmUrrL®L6irr �GIT85@)8i. 
(a) How do you prepare the following c ompounds from benzene diazonium

chloride ?
- · · 

(i) Nitrobenzene
(ii) Chlorobenzene
(iii) Phenyl hydrazine ·

, (b) Show the formation ofa peptide bond with an equation. , 

70. ( �) CH2O GT6ITT!I) (Y)Q.>858in..Q)I ru rru:..iuurr®6ff">LlLI (A) GTGm!IJ,. 6.irfl LOJ:Ga:rrLOLD CH
3
Mgl

�L6ITT �6ff">60TL.jrflµ;� (B) 6T"6ITT!I) 6.irrlLOa: Ga:rrL0�61))�� �®c$l!D�- @� �arurr6.i 
Ga:rrt.q-UJ��L6ITT 61))�LIJ"�6ff">60T QrurolGUJ.(D.Q)ILO. Ga:rrLOLD (B) �Lrr H2SO4

(Y) 6irr 6ml 6ff"> ru u51 ro 410 K Q ru u u � 6ff"> ru u51 ro JB rr JB 85 B> LO 6ff"> L lf> � C 4 H10 0 GT 6irr !I) 
('.Y)Q.>858in..Q)I 'rurru:..iuurr®6ff">LllJ (C) ffi� �@c6l!I)�. (A), (B) LO.(D.Q)ILD (C) ffi85 
6.i OOLpS) 1B� 66161)) 6016.i 61)) GIT � GIT 85@)6.i. 

( ,qb) , A' 6T" 6irr !D a a: rr LO LD LO u51 ro � � � LD 6T" Gm w w � 61)) !:P 85 a; u u ® c$l !D � . ® u rfl 85 
,qb856ff">GlU61))L }BIT�� H2SO4 Q) 8i6ff">IJ"�� I A' 61))llJLJ Qu!D (Y)Lq-�LD 230°C Qruuu 
jB16ff">Q)85@) A ffi C§®u®��LD Qurr@� 'B' 6T"Gm!I) �!I) LO.(D!D Ga:rrL0�6ff">�� 
�@c6l!I)�. I A' ��6.i �GITGL1 NH4OH �LGm_�6m60TLjrflp:,� 'C' 6T"6ITT!I) �61))6!fOT�6 
Ga:rho�6ff">�� �®�!D�- 'A' ,qb60T� H2S �LGm �6ff">60TL.jrrlp:,� 'D' 6T"Gm!I) 8>@6ff">LO 
JBlw Q)wutq-GIDru� �®c6l!D�- , A', 'B', 'C', 'D' GTrou60TruJD6ff">!D85 a;oo®LEl!ir�� 
� 611) 60T 6.i6ff">GIT � GIT 85@), 

. �6\)6\)� 
(�) (A) (CgHgO) 6T"6ITT!I) �® a; rfl L06 Ga:rrLO LO � Gtu rrGLrrU rrrrLD 

�6ID60T85 @) Lu@$lio�- �rfua;-&ia;e;Q)66)QJ L.D.(D.Q)ILD �-Llf ·Hci �L6m (A)

�{b)856.il.D61))Llf,� (B) (C8H10) tB� �®c$l!D�- (A) LjG(Jrru5l@ILGm r-r-�rflru 273 K 
Qruuu�GIDQ)u51ro �6ff">60TLjrflp:,� (C) (C8H7OBr) re� i@c$l!D�- (A), (B) L.DJD.Q)ILD. 
( q m 6.ioo L!]S) p:,� � 61)) 60T 6.i61)) GIT � GIT 85®. 

(r-r-) Ba(OH)i ,qb60T� ru 6Ul6ff">LO L.61® L.61Gmu@)rol �6nflru 0.02 M Ba(OH)i JBrfltu 
8>6ff"> IJ" a:6Ul 6irr pH ffi 6.i6!fOT 85c6l ® .
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(a) An organic compound (A).molecular formula CH
2
O reacts with CH

3
MgI to giv�

compound (B). Compound (B) liberates Hydrogen with metallic sodium.
Compound (B) in the presence of Con. H2SO 4 at 410 K on dehydration to give
compound (C) molecular formula C4H10O. Identify (A), (B) and (C). Explain the
above reactions.

·(b) Compound (A) also known as blue vitriol can be prepared by dissolving Cupric
oxide in dil. H

2
SO

4
. A on heating to 230°C gives compound B which is colourless. 

A react� with excess of NH
4
OH and gives C which i� a complex salt. A also reacts 

with H
2
S·and gives compound D, a precipitate which is Hack in·colour. Find out 

A, B, C and D. Explain the reactions. 

OR 

(c) An organic compound' A' (C8H8O) undergoes iodoform test. When reduced
with Zinc amalgam and HCI it gives B (C8H10). A with Br2 in Ether at 273 K
gives 'C' (C8H7OBr). Identify A, B and C. Explain the reactions.

(d) Calculate the pH of 0.02 M Ba(OH)z aq-qeous solution assuming Ba(OH)z as a·
strong electrolyte.

·r.,·-

J ' I I •, 

.l :, I 

• 

-oOo-

·, \ '� -.. .\ ' 

• I, : :, 

,·1, .. . 
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